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Cambridge First (FCE) — Transformations — Phrasal Verbs

Complete the second sentence so that it has a similar meaning to the first sentence, using the word
given. Do not change the word given. You must use between two and five words, including the word
given. Here is an example (0).

Example:
o] Kyle is an active person, so he usually goes for a run every morning.
TO

Because he is an active person, ._.. Kyle tends to.go.running.... €Very morning.

1 If you stop training, you are never going to become a professional swimmer.

GIVE

You are never going to become a professional SWIMIMET ... eremeceessssssesssmesssssesesssssees training.
2 At first the party was a lot of fun, but by the end of the night, it got out of control.

UP

At first the party was a 1ot of fun, BUL it . ssssssesesssssessseens of control.
3 Sarah often takes a look at the local news in case there is something interesting happening in

town at the weekend.
ouT

To see if there is something interesting happening in town at the weekend, Sarah

........ the local news.

4 Katy has always respected his father because he is a hard worker.
LOOKED

Katy's father is a hard worker and she has always ... that reason.
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The match was delayed by a day due to bad weather.

PUT

Because of the bad weather, the match .....cccoveeeees wemeennenns the next day.

Lola couldn't forgive Charlie after discovering that he had been lying to her for years.
OouT

Lola couldn't forgive Charlie Whemn ......eeemmeeesmsesessssssssssssanes that he had been lying to her
for years.

I've always had a good relationship with my extended family.

WELL

I've always ....oeeees e e my extended family.

My parents raised me to be honest and kind to strangers.
UP

OO to be honest and kind to strangers.

Amanda enjoys remembering her time in Italy with all the photos she took
LOOK

All the photos she took is an enjoyable way for Amanda ............... e s her time
in Italy.

Tom has been gaining weight, so he has decided to eat less fast food.
CuT

Tom has deCided ... rrerreerseessesessesessssesees fast food because he's been gaining weight.
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ANSWER KEY

1 if you | GIVE up

2 ended UP | (getting) out
3 often | checks OUT

4 LOOKED up to | him for
5 was PUT off | until

6 she | found OUT

7 got on WELL | with

8 was | brought UP

9 to LOOK back | at

10 to CUT down | on
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